Exam Review #2 Functions Name: _ H@’{ﬂﬂ

1. Each step in the pattern below contains black dots and white dots. In every step that follows ‘S{ap 1,
first a column of white dots is added on the right and then a row of black dots is added at the bottom.

Step

Which of the following expressions represents the number of black dots in Step #?

A {n+ 17
A3n—-1) C. 2 D. 2 '
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2. The recursive formula for a sequencae is shown below. . \ Ll'g 6 AN %Mﬂ (7
NEXT =5 « NOW, starting at 9 b1 i b%

Which explicit formula can be used to determine the value of the #th term in the seQuence?

A fln)=5n E\ﬂn) =Sn+9  C.Am)=1.3GYD.Am) =95y
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3. Changing the value of ¢ in¥ =@ + €0 its opposite has what effect on the graph?

A. It changes the width of the graph.
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B. It changes the vertex of the graph.
C. It changes the graph’s axis of symmetry.

D. If changes the direction that the graph opens.
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4. The graph of the equationy = isﬂ__shown below.
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if the y-intércept of the line is changed to 6, which graph below represents the
new line?
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5. What is the inverse,/ ‘®of the fun_ctionm 6

A Sl =6+ % g /W= —gx +6 o fle= —x+6 1(;) = 2x+15

y = 5(x+)
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6. What is the mversef_ {*}.of the funcﬂon}g} 3 ?
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d_z( o) = 3x+5
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7. The graph below shows Amy’s distance from home on an afternoon hike.
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How many miles from home was Amy after hiking for 3 hours?

@ B.2 C.25

8. A student used the following steps to solve a math problem.
Given:@= 10
Step 1555085 =10 /

xlogd 10
Step2: 5 5

Step 3:* logl =2

In which step above does an error oceur?

A. Step 1 B. St-eif/ C.Step 3

D.4

D. No error is shown.



9. A company produces two types of widgets, type fand type g. The nurhber of
each type of widget produced at the end of ¢t weeks can be modeled by the

075 400
functionsf{} = 2982} falnt:i g = 249(3}0 erhich expression cannpt’bé
determine the difference in the number of weeks it takes to producg 800type g
widgets, and the number of weeks it takes to produce 800 type f widgets?
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10. The circle shown below has a diameter of 18 centimgters (em). If the
dotted arc is 33 cm long, what is the measure of angle ~ in radians?
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11. On the unit circle shown, which radian measure represents the point located

at. 272

Lan @= -
Lanr (1) =-45"
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12. The figure below represents a unit circle.

Which statement about the figure is true?
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B. cos t—i

@The measure of Angle {is 0.5 radian.
The measure of the Iength of the radius is 0. 5 unit.
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13. Samuel delivers produce on a route among the three cities shown in the

rlgure. | , law of coanes
X L% 4% 7 A(wolis)- cos 4O
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Bryce Tites. “Citrus

? b ¢
Which equation can be used to determine d, the distance in miles, from Estatoe to
Citrus?
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o d=4152+ 407 - 40 x 15 x 2] )= /152 + 40 — (40 x 15 x 2) cos 40°
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14. Using the Pythagorean identity,sin” & + cos” &= Lwhat istan6if - ° 2 and
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